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1. I buy a cake reduced by 40%, a tin of beans reduced by 10%, and an apple at full price. How much do my purchases cost me?

2. I buy an ice-cream reduced by 10%, a chocolate piece reduced by 10% and a doughnut reduced by 30%. How much do my purchases cost me?

3. I buy a loaf of bread, an apple and a cake- all of which are reduced by 45%. How much do my purchases cost me?

4. When baked beans are bought in groups of 3, you save a total of 10%. How much does that make each tin?

5. I buy 2 loaves of bread, one of which is reduced by 35%. How much do I save?

6. I buy 1 cake reduced by 20% and another cake reduced by 25%. When I get to the checkout, the lady tells me that I save a further 5% off the whole sale. How much money have I saved in total?
7. I buy 6 cakes reduced by 30% for a birthday party. How much money have I saved? 

8. When bought together, 6 apples are reduced by 40%. I buy 24 apples. How much does my total cost? 

9. I decide to buy one of each item. My total spend comes to £7.80. What percentage discount have I received off my total spend?
If you finish these questions, write 3 more problems, like the one in question 9. 



10. I buy a cake reduced by 10%. How much does it cost me?
11. I buy an ice-cream reduced by 10%. How much does it cost me?
12. I buy a loaf of bread, reduced by 10% and an apple at full price. How much does it cost me?
13. I buy 3 tins of baked beans, each reduced by 10%. How much does it cost me?
14. I buy a tin of baked beans reduced by 30%. How much has it been reduced by?
15. I buy 2 cakes, and get 30% off my total amount. How much has been taken off?

16. I buy 2 tins of beans reduced by 20%. How much have they been reduced by? 

17. I buy a loaf of bread with 10% off, an apple with 20% off, and a tin of beans at 100% off. How much does my total spend come to?

18. I decide to buy 10 cakes for Class 4 to share, with 50% off each cake. How much does my total spend come to? 

If you finish these questions, write 3 more problems like you have just answered! 
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